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Triangle Activity:
Step 1: Label all four triangles: A, B, C, a, b, ¢
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Step 2: Measure all the sides of the triangles and write the side lengths on the pages.

Step 3: For your first triangle, calculate the following:

sinA
a

2.
o5
®

.
ol
&>

What did you notice?
Step 4: For your second triangle do the same thing as in step 3.
Step 5: For your third triangle, calculate the following:
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sinC What did you notice?

Step 6: Do the same for the fourth triangle.




MBF3C – Sine Law

1.
Solve for the given variable (correct to 1 decimal place) in each of the following:
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2.
For each of the following diagrams write the equation you would use to solve for the indicated variable:

(a)



(b)



(c) 

3.
Solve for each of the required variables from Question #2.

4.
For each of the following triangle descriptions you should make a sketch and then find the indicated side rounded correctly to one decimal place.

(a)
In ΔABC, given that 
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A = 57°,  
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B = 73°, and AB = 24 cm.  Find the length of AC

(b)
In ΔABC, given that 
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B = 38°,  
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C = 56°, and BC = 63 cm.  Find the length of AB

(c)
In ΔABC, given that 
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A = 50°,  
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B = 50°, and AC = 27 m.  Find the length of AB

(d)
In ΔABC, given that 
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A = 23°,  
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C = 78°, and AB = 15 cm.  Find the length of BC

(e)
In ΔABC, given that 
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A = 55°,  
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B = 32°, and BC = 77 cm.  Find the length of AC

(f)
In ΔABC, given that 
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B = 14°,  
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C = 78°, and AC = 36 m.  Find the length of BC

 SEQ CHAPTER \h \r 1 Solutions:

1.  (a) 8.9 units (b) 50.0 units (c) 90.2 units
2.  (a) 
[image: image17.wmf]°

=

°

81

sin

36

53

sin

a

 (b) 
[image: image18.wmf]°

=

°

70

sin

35

sin

6

.

23

b

 (c) 
[image: image19.wmf]°

=

°

73

sin

15

sin

2

.

14

c


3.  (a) 29.1 cm (b) 38.7 cm (c) 52.5 m
4.  (a) 30.0 cm (b) 52.4 cm (c) 34.7 m (d) 6.0 cm (e) 49.8 cm (f) 148.7 m
b
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